AR S EE =k W

=%

JEE ORI S
X

7

T

A =

&

FIRERE RS 2016/2017 Z4EE 2 FH]
( BFERBR5ZELITB ) HiXikE

e (R) Pk ] w4

mqEs | — | = | = | @ | A | x| k| AR ES
Ha
5 | s EHEREE (BZE 14, 20
1. (10011), +(100110.011)gp, 5, +(24)5 =( )
(76.125)10=( Yo » (13.85)10=( )»» PREA=AL/NEL
2. WHEHMF =(A+B+C)ABC =0t s F = » K18 B K

F = o

3. F=ABC+ A+ B+ C i 5m3ik A

4. B RALE I E TR Gl .

5. MEINAG T SRR, v v e I B AR TR

6. JK fil & 2% VRFAE T FE N .

7. HSAEITHI RIS A RS il B A R AR

8 > 8 AL i D/A B8 I 2 B i HUE A 10.20V, 4% A J9(10110100),
I, RN V.
A. 256 B. 712 C. 72 D. 512

9. 7 A/D Heiegirh, CAIAREIEL, FRA “P&HN” JFikky B ir,
M e K EAIRZE N A.

10. 7E ADC HLEEH, IRIERHORE B, HORFHE 5 IR f S5 NE 5 IR s

P fimax DO E( o

11. 75 A/D Fl D/A B3 ds 1% Re 25 1 F 22 da br 2 .

AR B.ARVEREE CIUIZIEHRE DS BRI 0k

12. # 1K X4ROM ¥ & A 8K X SROM 75 FH IK X 4ROM ().

A. 4)r B. 8k C. 167 D. 32k

13. . 16K X 8RAM, HhhtZZFEHLRIZE 250 ( )-

A. 8 FKHbEZE, 8 AAMELk  B. 10 ZHLhEZR, 4 KR4

C. 16 #Hhhk2k, 8 &%¥isk  D. 14 bbbk, 8 KAk

14 © %1 Intel 2114 52 1K X4 A7) RAM RIS, BAHbEZE 2%, iRk %.

(B 5S2EEB) WB@) % 1 0 3t 4 W



15 fE FAEREH, ANJET PLD Hdeft 2 .
APROM B.EPROM C.SRAM D.PLA

(Ey —

= a0 4 ) B2 m F(ABC)=>m(247)

F,(A,B,C)=Ym(0,3,4,5). F(A,B,C)=> m(0,2). kRF, ®F, ®F,
f 1 5 i

m | =L (10)IRA745 I S RIIE

F(A,B,C,D)="Y m(03,12,13,14)+ > ¢(7.8).

] W Q09> ALK IR (0 5 AR T T B A

F(4,B,C,D)=7, (0,2,6,8)
AB+ AC=0

(B 52EEB) B@) % 2 i 3t 4 W



% 4 Fi (643 D fi A 45 K4 I FRL I Q
EIFR, RAE Qi e (ERXS R In
SRS TN FAERD.
CP —pc
_?_P—
CP RD
Ro
B 45 75~ (12 40) CHIE P Eg I E s . 5 H & il a4 B 77 B AR S TT 12,
1] F R R A e 4 1
0, Q,
|
FF, J FF,
1J 1 1J
Cl1 D C1
1K b 1K

cp

o | k. (1090 H 74161 Hpn R QB TR, I HUIRES A R IE I W v Bt

HIFRAH
T Q Q Q Q;
1
P 74161 Occ
cp —p>Cp
CR L, D, D, D, D;
TT T T T L—
1 0 0 1

Q3 QZ Ql Q{]

(B 5S2EEB) WB@) % 3 0 3t 4 i



BT 1L (1040 WS ER LK 74194 Bt QO AbE I B

1—Dg
0—D1
1—D; T F
1Dz 74151
0—Dy
1 g W
0—Dg

U_D7Px2 AI Ao G

L

Q0Q1Q2Q3 Dsl

=5 Mi-0
—CR

1r 74194 Mol 1

Dg;D0D1D2D3 P

RN

CP

a Jus (12 43D % ABC N =A i H#L, 78 PLA LBihsEg: ()2 S REw

By, FTREME 3 BEBR, Wt Fi=1. Q2% KT 12, # KT 12, W F=1

BB FAER N :
A|B|C|F |FR
0|00
0|0 |1
0| 1|0
0| 1|1
1|0 |0
1o |1
1110
1|11

(B 52EEB) @) % 4 13t 4 0




